w

20.

A and B are partners in a business. A contributes

Il !
i of the capital for 15 months and B received

2 3
= of the profit. For how long B’s money was used?

A wppibd B euarllasfled Ltigsryiasr. 15 WwrESHHE %
ki@ A pad@ Gsldpr Coad B GerusHaman %

ukie dundlont aefld ediauera) srasdie B ular
LewTdblenen Liwse Bgd e ?
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BSMA43 — MATHEMATICS FOR

COMPETITIVE EXAMINATIONS - I (SBS I)

Time : Three hours

Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

Find the difference between the place value and
the face value of 6 in the numeral 856973.

856973 ereimp eranrantli @ Gsammear @)L oL LOHOID (L&

SIS SMems.

How can be 252 expressed as a product of prime?

252-ew el UST  eraRTsEnET Aumsss
Glevafludemb?

If 415 = 3.88, find the value of ‘g ,
=4
V15 = 3.88, erafled \/g WA LIE &mers.
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Find the average of first 20 multiples of 7.

(x‘l —l) e (x-1) <o aiEsEd Gurg isear e
GraoTen ?

Evaluate : 28% of 450 + 45% of 280. _
28% of 450 + 45% of 280 e wllieniis sreirs.

2 2943

(a)

(b)

(b)

18.

7 L@ QU@ésésé;azuq.l.u apga 20 eramsafar syraflaws
HITETS.
The difference of two number is 11 and one-fifth of
their sum is 9. Find the number. ;
Qran® erawseflen Ceaupur® 11 wbHmbd <zt «--::-"“*«
sm(pslean mide @m LkiE 9 aafld Bibs GTGEUTGFJGUUTE.A'{: :_‘“Fl’?_:i"\_
& TGS, ; -1. = Moy ::*;. 1

Y™ k':’t‘?t‘d.‘a' &
At present the ratio between the ages of Arun and\\ CN j 1}
Deepak is 4 : 3. After 6 years Arun age will be & \;!. RN
26 years. What is the age of Deepak at present? -‘:::‘"‘_";’
gHEumpg mam wopb Susfar awg Ns5Hure 19.
eflflgd 4 : 3. menflen g 6 apanr(Hs@EnsiE e 26
crafled usdlen sHGLTEHI eI eresan?
What is the quotient when (x'l —1) is divided by

(x-1)?

(<=1)

The ratio of father's age to his son’s age is
7 : 3. The product of their ages is 756. What
is the ratio will be their ages after 6 years?

In 10 years, A will be twice as old as B was
10 years ago. If 4 is now 9 years older than
B, then what is the present age B.

ghwg wHmb waeaflear ewg eldsn 7 : 3.
Geuisaflien euwidlen CLpEGS Qgnans 756 erafle
6 cu(pL_thsEhsE 9@ @euisellen euwg craran?

10 eumpLrvsailes B euwigreng A @@ i@

T e wgl. sneurws Baw smlyaib 4, 9 auwg)

Quilgrs snG UMW B auwg erare?

A man gain 20% by selling an article for a
certain price. If he sells it at double the
price. Find the percentage of profit.

If loss is % of S.P., find the loss percentage.

et @ Gurmener GOIKGLL Qprasss
el Qumpg 20% @erub HaLsdpg. Qs
GmwLrdpeE eflnEn Cung deaLseEb @aru
FHIHSMEE SIS,

(<) S.P. .—;- BLLLD erefled pLL sgeinSmss Srams.
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16.

17

SECTION C — (3 x 10 = 30 marks) 9. I£f0.75 : x : 5 : 8, then find the value of x.

0 0.75:x:5: 8, erafléd x air ol iewLis smems.
Answer any TEREE questions. '

10.. P and @ started a business investing Rs. 85,000

(@) Find the sum of the first 20 terms of the ‘ and Rs. 15,000 respectively. In what ratio the
b 2Al 1 1 1 profit earned after 2 years be divided between P
series : —e——— b —— 4. oy i : .
52" 8x  Tx 24x% : and @ respectively?
‘,,--:-_-:-‘.h eflwmumggdler P wpm Q ey 85,000 LOHMILD
() If 1.5x=004s then find 248 Alls 3\ -
& RieRatag g valup Jor A3 NN @ 15000 @pd®  Geidprisdn.  @rew®
e b
[y_xJ i3 Vatal |2 QOLEEEEG Gpe P oppid Q el Bongfldr
* i g Matal |50
VX 2 i\ al “M F&eIHID eTelcuaTa SlanL GEib?
[P PN 1 \}i"’f?"w’-éﬂf‘??;f’f :
Y P ¢ _ .k 2 TI et — o
(1) Bk + o + —% + SiE T QAsrLfle 2P SECTION B — (5 x 5 = 25 marks)
W 20 2 gyiu el s G srans, Answer ALL questions.
s 11. (a) Find the sum of even numbers between
(=) 1.5x =0.04y, cafe [y +x] WwHU@mUE &meire, 1 and 31.

1 gpgev 31 euenr o drer Qi avl LUenL. erarseflcn

If 2x+3y+2=566; ©-y+z=4; —x+y+z=12 Fo(NFE60E &Teters.

then what are the valuss of x, yand z. | Or

2x +3y + 2z = 5b; X=y+z=4 -x+y+z=12 ' (b) Find the L.C.M. of 24, 36and!40.
arafled x, y Lepmith 2 el enus srams. 24, 36 wpmib 40&smen 18.8.10 srems.
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12.

13.

(a)

(b)

(a)

(b)

If 2x + 3y = 84 and il :%, then find the
Y
value of 7x +5y.
AR s :
2x+ 3y =34 mm@;m—=€mmﬂm7x+5y
i

W&l IenLIE &Tewrs.
Or

Evaluatel\j41-\}21 +419-+/9 .
\/41421“{19 -9 LHUGEs.

The sum of the squares of three consecutive
odd number is 2531, Find the numbers.

2056055 am ghop aerseflear @@ geo
2531 erafled DibS eTauTEENaTE HEHTs.

Or

One year ago, the ratio of Gaurav’s and
Sachine’s age 6 : 7 respectively. Four years
hence, this ratio would become 7 : 8. How old
1s Sachine?

QM UMLSEDG e seuyel LHMID &8 efllar
auwg eldgd 6 : 7 Gogib prers aumLsSHE
Ume 7 : 8 eran @psding erafler srlaflar euiwg)
GTGuTEn ?

4 2943

()

(b)

(b)

If [2’“'] : [8]"‘5 = [2]"® then find the value of x.
[2*]- [81"° = [27"® erefish x e ey ameias

Or

A book was scld for 2s. 27.50 with a profit of
10%. If it were so.d for Rs. 25.75, then what
would have been zae percentage of profit or
loss?

RO Uspsd 10% FJarusgiear @m. 27.50 &
eIDsELLRSDEL. 65 £5.75 5@ elDaLuL g HéELb
Curg eigenr Qorut e@og bl sseddsn

GTGHTET?

Two numbers are in the ratio of 8 : 5. If 9 is
subtracted frem each, thke new numbers are
in the ratio 12 : 23. F-nd the smaller number.
Qe eramsaian sg=isn 3 : 5. @Ho 9 ey
slssLu@L Cungr S s@b spelipn 12 : 23
crafleh Flw erewrenamr & Srewrs.

Or

A, B and C cam started a business by
investing Rs. 1,20,000, Rs. 1,35,000 and
Rs. 1,50,000 respectively. Find the share of
each, out of an anruzl profit of Rs. 56,700.

A, B vppd C apepGu esumis. 1,20,000,
emumd. 1,365,000, epams 1,50,000 eflwimLimygdley
s @ Ceudpriss aalld @ aumL Gamub
56,700 erurenws eriL g IMEserLD erem smeis.
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